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GENERAL APTITUDE

10.

11.

12.

13.

14.

15.

16.

The different group of stars is known as

A) Constellations B) Celestial bodies C) Asteroids D) Comet

Which country has two-party system?

A) India B) Sri Lanka C) United Kingdom D) Nepal

Which of the following is a macro nutrient?

A) Mn B) Mg C) Cu D) Zn

The process of evaporation causes

A) Cooling B) Heating C) Dryness D) None of these
How does light normally travel?

A) In concentric circles B) In a straight line

C) Always towards a dark area D) In a curved line

First Country to undergo industrial revolution:
A) France B) Britain C) Germany D) USA

A solar water heater can not be used to get hot water on
A) A sunny day B) A cloudy day C) A hot day D) A windy day

In India, the first cotton mill was set up in
A) Madras B) Bombay C) Kanpur D) Surat

Regur soil is the other name of
A) Black soil B) Alluvial soil C) Arid soil D) Laterite soil

Place directly above focus on Earth’s surface is known as
A) Strike B) Comma C) Epicenter D) Origin

HCF of 84 & 270 is
A) 8 B) 6 C)4 D)2

The sum of first five multiples of 3 is:
A) 45 B) 65 C) 75 D) 90

7:12 isequivalent to:
A) 28 :40 B)42:71 C)72:42 D)42:72

Find the simple interest on the Rs. 2000 at 25/4% per annum for the period from 4™ Feb 2005 to 18" April 2005
A) Rs. 35 B) Rs. 30 C) Rs. 25 D) Rs. 40

The average of 20 numbers is Zero. Of them, at the most, how many may be greater than zero?
A)0 B) 1 C) 10 D) 19

An athlete runs 200 meters in 24 seconds. His speed is?
A) 10 km/hr B) 17 km/hr C) 27 km/hr D) 30 km/hr
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17. Every rational number is
A) A natural number B) An integer C) A real number D) A whole number

18. What decimal of an hour is a second?

A) .0025 B) .0256 C) .00027 D) .000126
19.  Afruit seller had some apples. He sells 40% apples and still has 420 apples. Originally, he had how many ?
A) 588 apples B) 600 apples C) 672 apples D) 700 apples
20. A does awork in 10 days and B does the same work in 15 days. In how many days they will do the same work
together?
A) 5 days B) 6 days C) 7 days D) 8 days

DOMAIN KNOWLEDGE

21.  Which of the following sand must possess high refractoriness?
A) Backing sand B) Parting sand C) Facing sand D) All of the above

22. Clay used for foundry sand should be
A) Kaolinite B) Montmorillonite C) llite D) Any of the above

23.  Which grain shape of sand particles is least preferred for foundry sand?
A) Round B) Angular C) Compound D) sub angular

24.  Which of the following is the anti-penetration material introduced in the moulding sand?
A) Coal dust B) Powdered quartz C) Black oil D) All of the above

25. The amount of the coal dust added to molding sand depends on :
A) Shape of the casting  B) thickness of the casting C) temperature of pouring D) none of the above

26. Which of the following is used to increase refractoriness of sand?
A) Graphite B) Silica flour C) Iron free zirconium D) all of the above

27. The water content of green sand is usually .
A)lto2% B) 6to 8 % C)12t0 18 % D) 20 to 25 %

28. Heat storage capacity of moulding sand can be increased by adding
A) Graphite B) Chromite C) Magnesium powder D) Any of the above

29. Addition of saw dust to moulding sand increases its
A) Gas permeability B) Refractoriness C) Cohesiveness D) All of the above

30. Average amount of sand required in a foundry for making one tonne of casting is nearly .
A) 0-1 tonne B) 0-2 tonne C) 2 tonnes D) 20 tonnes

31. Sand is broadly specified by :
A) Grain size B) Colour C) Moisture content D) All above together
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32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

Sodium silicate in sand is often used as

A) Substitute of clay B) binder C) refractory material
Alcohol based paints are used in moulds which are prepared in

A) Green sand B) cement sand C) CO2 sand

In steel castings grain sand is used.

A) Fine B) Coarse C) Medium

Straw and hay are used in sand mixture to increase

A) Collapsibility B) Permeability C) Refractoriness
Generally in green sand process, moisture content is %.
A)lto2% B) 6to 8 % C)12t0 18 %
Bentonite is found as sodium and bases.

A) Calcium B) Cadmium C) Chromium
Dead clay is in facing sand than backing sand.

A) More B) Less

Dry sand mixtures contain dextrine than green sand.

A) More B) Less

Graphite in moulding sand improves surface finish of

A) Metal B) Pattern C) Casting
Generally in dry sand process moisture content is %.
A)lto2% B)6t08 % C)12t0 18 %

Round sand grains results in high

A) Strength B) Permeability C) Flowability
Graphite based coatings are used in castings.
A) Cast iron B) Steel C) Aluminium

is added mainly for producing a reducing atmosphere during castings.
A) Coal dust B) Bentonite C) Graphite

Bentonite is used in moulding sand to increases strength.
A) Dry strength B) green strength C) baked strength

Phenolic resin is used as a binder in moulding process.

A) Dry sand B) green sand C) shell
Artificial sand prepared in the foundry is termed as sand.
A) system B) semi-synthetic C) synthetic

Fine grain sand gives good surface finish but posses low :
A) Collapsibility B) Permeability C) Flowability
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D) dressing material

D) system sand

D) None of these

D) Cohesiveness

D) 20 to 25 %

D) Cerium

C) Same as in backing sand D) None of the above

C) Same as in green sand D) None of the above

D) All of these

D) 20 to 25 %

D) Fineness

D) Copper

D) Dextrine

D) hot strength

D) plaster

D) green

D) Green strength



49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

When the clay content increases the permeability of moulding sand
A) Increases B) Decreases C) Remains same D) None of these

The inorganic binder group includes

A) Clay B) Sodium silicate C) Cement D) All of above
Sand used on the face of the pattern before moulding is called sand.
A) Green B) loam C) parting D) ail
type binder is commonly used in making Oil sand.
A) Organic B) Inorganic C) Clay D) all of these
Which sand is used for making Cores?
A) Dry B) Green C) Loam D) Qil
A mixture of 50% sand and 50% clay is called sand.
A) Green B) Dry C) Loam D) None of these
Which one of the following is not used as moulding material?
A) Silica sand B) Glass C) Sodiumssilicatesand D) Plaster
Loam moulds are made for casting.
A) Small B) Medium C) Big D) Very small
Bentonite is generally used in moulding sand to provide .
A) High refractoriness mould B) Improved hot strength of the mould
C) Strength and plasticity of the moulding sand D) Edge hardness of the mould
Which is not used as clay (or binder) in sand moulding?
A) Bentonite B) lllite C) Fireclay D) Silica flour

Molasses are used to improve
A) Dry strength of sand and edge hardness of moulds B) Collapsibility and flowability of sand
C) Surface finish of castings D) Green strength and collapsibility of sand

The green compression strength of moulding sand with increase in moisture content.
A) Increases B) Decreases C) Is unaffected D) None of these

The sand, which is used next to pattern, is called

A) Backing sand B) System sand C) Facing sand D) Heap sand
High purity silica sand, used in foundry contains percent silica.
A) 75 B) 85 C) 92 D) 99.8

Mould wash is used to
A) Increase the green compressive strength of the moulds

B) Decreases the permeability of mould

C) Increases hot strength of moulds

D) Increase better surface finish and to decrease casting surface defects

1500_17 (C) 5



64. is not used as binder in core-making.

A) Coconut oil B) Linseed oil C) Urea formaldehyde D) Urea furfural resin
65. Rigid moulds of closer dimensional accuracy is obtained in moulds.

A) Green sand B) Loam sand C) High density D) Pit sand
66. The thermal conductivity of sand grains is higher.

A) Fine B) Coarse C) Medium D) none of these

67. The permeability of moulding sand depends on .
A) Grain size B) Grain shape C) Moisture content D) All of the above

68. As the moisture content of sand increases, the permeability of sand .
A) Increases B) Decreases C) Remains unchanged D) None of these

69. The property of sand to withstand the high temperature of the molten metal without fusing or breakdown is known
as :
A) Refractoriness B) Cohesiveness C) Porosity D) Adhesiveness

70. Clay content of green sand is usually

A)1lto3% B) 5t0 10 % C) 18t0 30 % D) 30 to 50 %
71. is used for ladle lining and furnace lining.
A) Graphite B) Silica flour C) Fire clay D) China clay

72.  Which of the following develops strength and plasticity of moulding sand?
A) Moisture B) coarse sand C) fire clay D) none of these

73.  Which is used to improve surface finish, hot strength and resists metal penetration?

A) Silica flour B) coke C) wood flour D) corn flour
74. Melting point of silica sand is about oC.

A) 1150 B) 1200 C) 1500 D) 1700
75. As per .S the grain size 46 comes under the group of

A) Fine B) medium C) coarse D) compound
76. The term green in green sand indicates there is in the moulding sand.

A) Binder B) Moisture C) Coal dust D) Graphite
77. The rammer used for ramming the pockets and corners of the mould is —

A) Peen or Peg B) Flat C) Floor D) Pneumatic
78.  Which of the following tool is used for removing the foreign materials from the moulding sand?

A) Shovel B) Riddle C) Cleaner D) Bellow
79. Metal moulds are used in all of the following EXCEPT:

A) Die casting process B) Investment casting

C) Permanent mould casting D) Centrifugal casting
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80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

In furan process, furan resins are primarily used as
A) binders
C) fluxes

In investment casting the pattern is made of
A) wood B) urea formaldehyde

In case of plaster moulding the mould is prepared in
A) gypsum plaster B) slacked lime

Blow holes in castings are due to
A) high moisture content of the sand
C) excessive fine grains and gas producing ingredients

Sand is broadly specified by
A) grain size B) colour
Metal moulds are used in
A) green sand moulding  B) dry sand moulding
Shatter test is a measure of
A) sand toughness B) sand adhesiveness
The principal ingredients of moulding sands are
A) silica sand, carbon and water

C) silica sand, dust and crabon

B) chemicals for exothermic reactions
D) none of the above

C) wax D) none of the above
C) lime + cement

D) any of the above

B) low permeability of sand
D) any of the above

C) moisture content D) all of the above together
C) loam moulding D) die casting process
C) sand cohesiveness

D) none of the above

B) silica sand, clay and water
D) silica sand, carbon, hydrocarbons and moisture

Which of the following is used to obtain fine surface finish in ferrous castings?

A) Ground pitch B) Sea coal
Which of the following is similar to Trowel?
A) Smoother B) Cleaner

Strike off bar provides a

A) Level surface B) Smooth surface

A sharp pointed metal rod is used to lift the small patterns from the mould is

A) Draw Spike B) Draw Pin

Gaggers are used to increase of the mould.

A) Hardness B) Strength

Moulding box is made by .
A) Plastic B) Plaster of Paris

Water sprinkler is used for moistening the sand during
A) Tempering B) Mixing

1500_17 (C) 7

C) Gilsonite D) any of the above

C) Leveller D) Slicks
C) Fine surface D) All of these
C) Draw Screw D) Lifting Straps
C) Surface Finish D) None of these

C) Wood or Metal D) Wax

C) Moulding D) Melting



95.

96.

97.

98.

99.

100.

are used for retaining complicated shape of mould.
A) Sprigs B) Nails C) Gaggers D) All of these

To ensure that the sand bed or moulding machine table is horizontal a Moulder use .
A) Steel rule B) Spirit level C) Straight edge D) Rapper

Mallet is a striking tool and its head is made of
A) HS.S. B) Cast Iron C) Wood D) H.C.S.

Upper (Top) portion of the mould base (Moulding Box) is called
A) Cheek B) Drag C) Cope D) None of these

Middle part of three piece molding box is termed as
A) Cheek B) Drag C) Cope D) None of these

The Bottom most part of flask in sand moulding is called
A) Cheek B) Drag C) Cope D) None of these

1500_17 (C) 8
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10.

11.

12.

13.

14.

15.
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o Tor & 27 el yorreT 87

A) 9T B) T <=t C) FATzeT ey
A ® & 9 U &7 9O g2

A) Mn B) Mg C) Cu
FTCARTOT T THRAT T FTE0T ZraT 8

A) efiqer B) qra+ C) {rohaT

AT % g T FIHH & S U T €T FgaTal &

A) T=T5F B) T C) ufu#zx
TERTET THTIAAT F8 FAqT 62

A) FETTHE g H B) U #ieft var # C) EHAT UF FAL & §
g TEAT 39T STl ST Fifd g%

A) ®iH B) fare= C) STHHT

T HIT T gle? T TANT ITHT TH FA 6 o7 g1 T Tohe &
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84 & 270 FT HgqH THTIAAF &

A)8 B) 6 C) 4

3 % TAH I OIS FT AN

A) 45 B) 65 C) 75

712 FET g

A) 28 : 40 B) 42 : 71 C)72:42

D) UF qHTEER Y@ H

D)ITaE T

D) gamam fa |

D) 42 :72

. 2000 FT 25/4% aATIOF T 2T 4 FLIT 2005 F 18 1< 2005 T ¥ TS FT ATLTIIT SATST ST Fe

A) %. 35 B) . 30 C)%. 25

D) %. 40
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16. T 9T 24 Fahe § 200 e ITSaT g1 3Tt I g2

A) 10 Fret/= B) 17 /= C) 27 /= D) 30 ferei/e
17. oI qTlehe 9eaT g

A) TF YTFIa® &1 B) UF TUiiE C) U aTeatas Hedr D) T TUT €T
18. T =< FT fohaaT I9HAT U Hohe g2

A) .0025 B) .0256 C) .00027 D) .000126

19. TF %A TohaT & ITH T 99 g1 g 40% T o= a7 g e AT 39 I 420 |9 99 S7d 5| 36 9 A
&7 q fra = 97
A) 588 &= B) 600 &= C)672 %= D) 700 &=

20. A T 19 &7 10 AT § Fzar g oiT B € w10 &1 15 A7 #§ Fear g1 9 v ety 39 #7197 &7 haq
oAt o w2
A) 5 & B) 6 fa= C)7 & D) 8 &=

DOMAIN KNOWLEDGE

21. 95 99 o9 a1 § 37 FOopFedd @9q gl argu?

A) FFERT AT B) faerma atq C) T a1 D) ST THT
22, TS AT H I (Wel gt AaT

A) FaferATse B) WizHIR= Tz C) zemEe D) Sud<k | & #rE AT
23. T FHOI & [6E FT ATHT HI TATS AT H FH AT &F SATAT 872

A) T B) ot S ERIEE D) 3w-Toftr
24, 99 H F T AlfosT a7 | & (60 7T q@7-0efT 98red g ?

A) T T B) FTse =01 C) THT T D) Sk Tt

25. HIfeeT AT § FHETAT TAT HITAT 07 T 7T T 9T FT B
A) FTREST T AR B) T &1 A=t C) 32 T a9 D) SUd<k | | FIE LT

26. Forer i & T ST AT A Pk Ty ¥ o ST 22

A) THTEE B) farferar =ot C) AT 7=k R a D) S &+t
27. 3T AT HT ST TIHATIT ST BT & :
A)1T2% B)6¥ 8 % C)12% 18 % D) 20 & 25 %
28. HIToeT AT FT AT WL AHAT T8 THATHT TETE ST TFHT g -
A) IETEE B) #MHTEe C) #uforam qrasT D) Sk | & S T
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30.
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32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42,

43.

44,

45.
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A) & f9dr B) qTTFIaT C) forFefia D) &RTaar
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A1T2% B)6¥ 8 % C)12¥ 18 % D) 20 & 25 %
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qq et afeT are & AT § " A H 2l E .
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46. HIToe T TTRAT HH AT L9 T TTRT S9F 6 &9 § 797 747 ©.
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